XAblhEEs

ALY — (BHDIZERD)

ROERE (FH6ERETHIGE)

B BE =e%)  (AEEINR ms mmwy | REHE EOHE) EZ8
ALY 9 — Kik—Jb BEA (FRI8EF30 ~FR19EF) 26,900 25,6001 A 1,300
ALY 59— Kik—Jb BH (FRI9EF~IEF) 89, 800 85,6001 A 4,200
ALY — Rik—Ib BE (FRI1B~F1%56F) 127,100( 121,200 A 5,900
tHLWLXEEY Y — Rik—Ib B (FRoF~F1%108F) 149,500 142,500 A 7,000
tHLWLXEEY Y — Rik—Ib B (FRI108F~F14118F) 59, 800 57,0001 A 2,800
tHLWLXEEY Y — Rik—Ib &WEE - MATE (FATBR30%) ~FRI9RS) 26,900 25,6001 A 1,300
tHLWLXEEY Y — Rik—Ib &EH - AR (FA9E ~1EF) 89, 800 85,6001 A 4,200
ALY 9 — Rik—Ib SRR - WAIE (FR1E~F%5) 127,100 121,200 A 5,900
ALY 59— RNik—Ib SR - AT (P68 ~F1521085) 179,500| 171,200( A 8,300
ALY 59— Rik—Ib SHEE - AR (P41 085~ 2FH51155) 71,800 68,400 A 3,400
ALY — RKik—Jb TEER (FA18EF309 ~FRI9EF) 26,900 25,6001 A 1,300
ALY — Rik—Ib TEER (FREI9RF~1EF) 89, 800 85,6001 A 4,200
ALY — RNik—Ib THEH (5185~ F1458F) 149,500 142,500 A 7,000
ALY — Rik—Ib TR (F126BF~F1%108F) 179,500( 171,200 A 8,300
ALY — RNik—Ib THER (FE10BF~F14116) 71,800 68,4001 A 3,400
ALY 59— Rik—Ib EMEE - KB (SFRIBEF304~FAI9RS) 33,600 32,100 A 1,500
tHLLXEEY Y — Rik—Ib HiER - kB (FaEI9RF~1EF) 112,200( 107,000{ A 5,200
tHLLXEEY Y — Rik—Ib BEE - KB (F#%15~FH%58F) 179,500 171,200( A 8,300
ALYy — Kik—Jb HIEE - KRB (68~ F1%1085) 149,500) 142,500{ A 7,000
ALYy — Rik—Ib BIEE - fRE (Fi10B~F141185) 59, 800 57,000 A 2,800
ALY — Rik—Ib #uxE BE (FRI88F309 ~FHI9EF) 38, 400 38,500 100
ALYy — Kik—Jb =) BH (FRI9EF~1EF) 128,200 128,400 200
ALYy — Kik—Jb =) BE (1B~ 1%58) 181,700] 181,800 100
ALY — Rik—Ib #uxE BE (FoF~F1%108F) 213,800| 213,800 0
ALYy — Kik—Jb =) BE (FR108F~F%1165) 85,500 85,500 0
ALY — Rik—Ib #uxE SHEE - AR (FAISRI30S ~FAHI9FY) 38, 400 38,500 100
ALYy — Kk—Jb =) S - FAE (FRI9E~EF) 128,200) 128,400 200
ALY — Rik—Ib #BINE SIEE - WAIE (1B ~ A 56) 181, 700( 181,800 100
ALYy — Rik—Ib #RE SWEE - MAE (FHR6F~F108) 256,400| 256, 800 400
ALYy — Rik—Ib #RE SWE - AR (FH10B~Fi%1185) 102,500( 102, 700 200
ALYy — Kk—Jb =) TREE (FRISEE304 ~FA98F) 38,400 38,500 100
ALY 9 — Kik—Ib =) THER (FR9E~1EF) 128,200) 128,400 200
ALY 9 — Kik—Ib =0 THREH (FE18F~F1458F) 213,800 213,800 0
ALY 9 — Kik—Ib =0 THEH (FEOBF~F1%108F) 256,400 256, 800 400
ALY 9 — Kik—Ib =0 TEER (FE108F~F%118F) 102,500] 102,700 200
ALYy — Rik—Ib #HNE ERE - kB (FRIBE0S~FAI9R) 48,100 48,100 0
ALYy — Kk—Jb =0 BEEH - hB (Fa098F~EF) 160, 400| 160, 500 100
ALYy — Kk—Jb =0 HIZH - thE (FR1B~F1458) 256,400| 256, 800 400
ALYy — Kk—Jb =0 HIEE - KB (1268~ F1%1085) 213,800 213,800 0
ALYy — Kik—Ib =0 BB - kB (FH51085~F45118%) 85,500 85,500 0
ALYy — KER—ILEE1 FRIIBF~IEF 900 900 0
ALYy — KER—ILEE1 FR1RF~FR00F 1,600 1,500 A 100
EHLLEE 5 — KR—IVEE1 FIRORF~T12108F 2,300 2,2000 A 100
EHLLEE 5 — KR—IVEE2 FRIIBF~IEF 200 200 0
EHLLEE 5 — KR—IVEE2 TR 1B~ 14585 300 300 0
EHLLEE 5 — KR—IVEE2 FIRORF~T12108F 800 800 0
EHLLEE 5 — KR—IVEE3 FRIIBF~IEF 900 900 0
tHLLEEY 5 — KR—IVEE3 TR 185~ 14585 1,600 1,500 A 100
tHLLEE 5 — KR—IVEE3 FIRORF~T12108F 2,300 2,2000 A 100
tHLLEE 5 — KR—ILER 4 FRIIBF~IEF 900 900 0
tHLLEE 5 — KR—ILER 4 TR 1B~ 14585 1,600 1,500 A 100
EHLLEE 5 — KR—ILER 4 FIRORF~T12108F 2,300 2,2000 A 100




B BE =e%)  (AEEINR ms mmwy REHE EOAE) EZ8
sALILIXEEY Y — INR—)b FH (FRIBK0. ~FAI9EF) 8,100 7,700 A 400
sALILIXEEY Y — INR—Jb FB (FRI9EF~IETF) 27,000 25,700 A 1,300
tHLILXEEY S — INR—)b EH (R ~F14585) 50, 700 48,300 A 2,400
sALILIXEEY Y — INR—Jb EB (FHROEF~T14108F) 67, 800 64,600 A 3,200
ALY 5— INR—Jb TH CFE10~F&1E) | 27,1000 25,8000 A 1,300
EAUWLXEtE 5 — INR—I)b R - BRE - (kB (FRIsEE305 ~FAIoE) 9,600 9,100 A 500
tALWSUEtEY Y — INR—Jb LR - BRE - KB (FAT9ES~IESF) 32,000 30,500{ A 1,500
HHALLXEEY9— INR—Ib THEE - BWER - KB (RIS~ 5 61,900]  59,000] A 2,900
HtALLXEEY9— INR—Ib TUEE - EEE - KB (FE6F~FE105) 81,800[  78,000] A 3,800
ALY — INR—JL HRA - FRE - KB CFE10B~ 118 32,700 31,2001 A 1,500
tHLILXEEY S — INR=—Jb #NE FH (R8I0~ FAI9EF) 12,100 11,500 A 600
tHLILXEEY S — INR—Jb #NE B (FRI9RF~IETF) 40, 500 38,600 A 1,900
tHLILXEEY S — INR=—Jb #NE EH (R ~F1%58F) 76, 300 72,500 A 3,800
tHLILXEEY S — INR—Jb #NE FB (FHEROFF~T4108F) 101, 600 96,900 A 4,700
LALLM 5— INR—)b #UE  |TFH CFE108~F%118) | 40,600(  38,700] A 1,900
ALY 59— INR—IL BRE THRE - ERE - KB (FRIGH305) ~FHI98) 14,700 13,7001 A 1,000
sHCIWLXEEYY— INR—JL Ele=] LR - BRE - kB (FAT9ES~IESF) 49,000 45,800 A 3,200
tHLILXEEY 5 — INR—Jb #NE HHEE - FREE - KB CFARTR~F5H) 93, 500 88,500 A 5,000
sALILIXEEY Y — INR—)b BuE T0EE - BWER B CRigeR~Fi0m) | 124,700( 17,0001 A 7,700
HEHLILXEEY 59— INR—)b #inE LHRE - EEE - KD (F1055~F(%1155) 49,800  46,800{ A 3,000

® mE =e%)  (AEEELOR ms mmwy |RENE EEHE) 28
tHLILXEEY 5 — DIN—1F)VE TFRIIEF~1EF 3, 600 3,400 A 200
tHLILXEEY S — DIN—1F)VE TR ~TR58F 5, 600 53000 A 300
tHLILEE Y5 — UN—=tVE OB~ T12IBFA5 7 7,400 7,100 A 300
sALILIXEEY Y — ZENREE FFRI9EF~1EF 3,300 3,100 A 200
tALLXEEY S — ZENREE FRIRF~TR58F 4,600 4,400 A 200
sALILIXEEY Y — ZENREE TR OBF~T1RIBF45 S 6, 700 6,400 A 300
tALLXEEY S — BEREEA FRI9BE~ a1 18F 1,000 1,000 0
sALILIXEE Y — BEREEA FRITIRF 0 ~ T 18109 1,000 1,000 0
tALILXEEY S — BEREEA FRIKF20 ~F£385209 1,000 1,000 0
sALILIXEE Y — BEREEA 33090 ~F1L58F309 1,000 1,000 0
tALILXEEY S — BEREEA FF&R5EFL ) ~ TR TR 1,000 1,000 0
sALILIXEE Y — BEREEA T 8RF~ T2 108F 1,000 1,000 0
tALLXEEY S — BEREEB PRI~/ 18F 1,000 1,000 0
sALILIXEEY Y — BERE=EB FRITIERF 0 ~FH185109 1,000 1,000 0
tALILXEEY S — BXREEB FRIEF209 ~F£385209 1,000 1,000 0
sALILIXEEY Y — BERE=EB #3090 ~FHL58F309 1,000 1,000 0
tALILXEEY S — BEREEB F&R5EFAL ) ~ R TR 1,000 1,000 0
sALILIXEE Y — BERE=EB T 8BF~ T2 108F 1,000 1,000 0
tALILXEEY S — Br¥v3l)— FRIIB ~F12IBF45 S 4,300 4,100 A 200
tALILXEtEY S — REER—IV FRIRF~1EF 4,500 4,300 A 200
tAHLILXEEY 59— REEER—IV 1B~ 12585 8,100 7,700 A 400
tALILXEEY S — REER—IV FROBF~T1RIFFA5 7 10, 300 9,800 A 500
tAHLILXEEY 59— REEER—IV = 0Es] FRIIEF~IEF 5,900 6,500 600
tALILXEtEY S — REEER—I #E FRIBF~T1R5KF 10,4001 11,600 1,200
tAHLILXEEY 59— REEER—IV = 0Es] FFROBF~T1RIBF45 S 13,500 14,700 1,200




= BE (2% AEMELR| e Gsmmy) | TINE WERE) ZR

tHLILIXEEY Y — FERE— FRIIEF~IEF 2,500 2,400 A 100
tALLXEEY S — FEE— R TR ~T1R58F 3,400 3,200 A 200
vHLILIXEEY Y — FEE FHROBF~F1RIBFAL S 3,300 3,100 A 200
tALLXEEYS— FE=E_ TR~ IEF 1,600 1,500 A 100
tHLILIXEEY Y — FEEZ FR1BF~T{R50F 2,200 2,100 A 100
tALLXEEY S — FEE_ TFHROBF~ TR IBFA5 5 2,000 1,900 A 100
tHLILIXEE 5 — FEE= TFRIIEF~IEF 1,100 1,000f A 100
sALLXEEYS— FEE= TR TR ~TR58F 1,600 1,500 A 100
tHLILIXEEY Y — FEE= FIROBF~F1RIBFAL S 1,500 1,400 A 100
tALLXEEYS— FEEMN TR ~IEF 1,800 1,700 A 100
tHLILIXEEY Y — FEEN 1B~ T{R58F 2,600 2,500 A 100
tALLXEEYS— FEEMN FHROBF~ 1R IBFA5 5> 2,500 2,400 A 100
tHLILIXEEY Y — FE=EA TFRIIEF~IEF 1,000 1,000

tALLXEEYS— FEEA TR TR ~TR58F 1,500 1,400 A 100
tHLILIXEEY Y — FEEA FIROBF~F1RIBFAL S 1,400 1,300 A 100
tALLXEEYS— FEEB TR~ IEF 1,000 1,000

sALILIXEEY Y — FEEB FRRIRF~F1R58F 1,400 1,300 A 100
sALLXEEYS— FEEB TFHROBF~ TR IBFA5 5> 1,400 1,300f A 100
tHLILIXEEY 5 — BHEE TFRIIEF~IEF 1,400 1,300f A 100
sALLXEEYS— BEE TR ~T1R58F 1,700 1,600 A 100
HtHLLXEEY9— BEE FIROBF~F1RIBFA5 1,600 1,500 A 100
sALLXEEYS— ETT=E TFRIIRF~IEF 1,500 1,400 A 100
sALILIXEEY Y — ESEES FRIRF~F1R58F 2,000 1,900 A 100
sALLXEEYS— ETT=E TFHROBF~ TR IBFA5 5> 1,800 1,700 A 100
sALILIXEEY Y — RIFRRE FRIIEF~IEF 1,500 1,400 A 100
sALLXEEYS— BEER= TR~ 1585 2,000 1,900 A 100
HtHLLXEEY9— BEER=E FIROBF~F1RIBFA5 1,800 1,700 A 100
sALLXEEYS— EMFrSU—114 FRTIRF~ TR IBFA5 5 5,400 5100 A 300
sALILIXEEY Y — EMFvSU— 28 FRIIBF~FRIBFA5 5 3,300 3,100 A 200
sALLXEEYS— IES TFRIRF~IEF 900 900

sALILIXEEY Y — ES FRIRF~TR58F 1,400 1,300 A 100
sALLXEEYS— M= TFHROBF~ TR 98455 1,100 1,000f A 100




HHRER—IV

B BE =e%)  (AEEINR ms mmwy REHE EOHE) EZ8
FARRR—I HFARERR—I FH (GFRISE0% ~FA9EF) 3,400 3,200 A 200
FARRR—I FARERR—IV EH (FRI9EF~1EF) 10, 300 9,800 A 500
FARRR—I HFARERR—I A (EF~FRIE) 3,400 3,200 A 200
FARRR—I FAHAXER—IV EH (R ~F1%585) 19,400 18,500 A 900
FARRR—I FARER—IV SER (5B~ F14608F) 4,800 4,600 A 200
FARRR—I FARERR—IV EH (FR6FF~F1%1085) 26, 000 24,8001 A 1,200
FAXRR—IV BAXRR—IV +HRE - EEE - R (FRTBER0S ~EF) 4,300 4,100 A 200
FAXRR—I HFAHAXER—IL +H2E - QA - (kB (FAI9~EF) 12,900 12,300 A 600
FARRR—I HFARRR—IV +i2E - BBRE - (KB (EF~F%15) 4,300 4,100 A 200
HAXER—I BAXEHR—IU R - BRE - KB (CFR1B~F%585) 26, 000 24,8001 A 1,200
FARRR—I FAXERR—IV A - ERRE - KB (5~ FH0R) 6,500 6,200 A 300
HAXER—IU BAXEHR—IU +HRE - ERRE - (KR (P65 ~ T4 106%) 31,100 29,7001 A 1,400
FARRR—I FARER—IV (=ies] FH (4FRISH0% ~FAI9EF) 4,900 4,900 0
FARRR—I FARRR—IV #HE EH (FRI9EF~1EF) 14,700 14,700 0
FARRR—I HFARERR—IV BIRE FH (EF~FRIE) 4,900 4,900 0
HFAXRR—I FAHXRR—I #RE EB (FEI1B~FE58) 27,900 27,800 A 100
FARRR—I HFHAXRK—I BIRE SEB (G5B~ F1468F) 6,900 6,900 0
HFAXRR—I FAHXRER—I #RE FB (FHR6FF~T£108F) 37,100 37,200 100
BAXERR—IV FARERK—IL oive=] WA - BWE - B (FATBRI0S ~FAI9R) 6,100 6,100 0
HFAXRR—I FAHXRR—I =ies] +HEE - ERE -k (FRI9E~EF) 18,500 18,500 0
FARRR—I HFHAXRK—I (= ies] +HEE - BEE - B (EF~F%15) 6,100 6,100 0
FHARER—IV FHRER—IV =) THEE - EEE - R (FH155~FH455) 37,100 37,200 100
HFAXRR—IV FAXER—IL #NE TIRE - ERRE - KB (FH5E~FH6R) 9,200 9,300 100
HHKER—I HAXER—I BunE AR - EREE - KB (U655~ Fik1055) 44,600 44,600 0
BHDERENEIS

® mE =e%) (BN ms mmwy |REHE EEHE) 28
B DZ=RENBIS BHD=REBILS EB (FRI8EF30 ~FRI9EE) 1,700 1,600 A 100
EVNOES N [EVAOE N B (FRI9ERF~ETF) 5,200 50000 A 200
EANOE= AN BHD=REBILS TH (EF~FERIE) 1,700 1,600 A 100
EVNOES N [EVAOE N EB (FHRI1R~TH58) 9,400 9,000 A 400
EANOE= AN BHD=REBILS ER (5B ~F%08E) 2,300 2,200 A 100
ENOES N [EVAOE N FEB (FH6FF~T14108F) 12,9001 12,300 A 600
BH\D=RENBIS RO DE=EE RIS THIE - EHEE - 6K CFRIBRF309~FAI9R) 2,000 1,900 A 100
EROE=SN ) [EVAOE N A - BRA - (KB (FAI9E~EF) 6,100 5,800 A 300
EANOE= AN BHD=REBILS +HEE - BREE - B (EF~%15) 2,000 1,900 A 100
EROE=SN ) [EVAOE N HEE - EEE KB (FHE1B~FE5E) 12,900( 12,300] A 600
O DELE B AN E= IR 5 TORE - EWEE - K] (U5~ FH6BE) 3,200 3,0000 A 200
AN E== 71N RHDERL)\BIIS A - ERRE - R (FH6R~F1085) 14,900 14, 200 A 700
EVINOE= AN BHDZ=REBIS = 0Es] EH (R8I0~ FAI9EF) 2,300 2,500 200
EYNOES N B DR Bt BIRE FER (FRI9ERF~EF) 7,100 7,500 400
IBENDE=RENEIS BH DR BILS HBIRE TH (EF~FERIE) 2,300 2,500 200
EYNOE N ENAOEL N i) BIRE ER (FRI1E~THE58) 13,300 13,500 200
EINOE= AN BHDZ=REEBILS HBIRE EB (FE5EE~F1%085) 3,300 3,300 0
Y NOE N ENAOEL N i) BIRE FERB (FR6FF~T1£108F) 18,100 18,500 400
EINOE= AN BHDZ=REBIS HBIRE THE - BWE - 8 (FAIBR305~FHI9ES) 3,100 2,900 A 200
RN DZ=REN B ENAOEL N i) BIRE +HRE - BBRE - kB (PRI ~TEF) 9,400 8,700 A 1700
EVINOE= AN BHDZ=REBIS = ies] +i2E - QA - (kB (EF~FR15) 3,100 2,900 A 200
EINNE=S AN EENAOEL N i BIRE TRE - BIRE - KB (CFRIR~ ) 18,100 18,500 400
DL \EIE A= IR 5 NG THRE - R - K] (PSSR~ FH6BE) 4,500 4, 600 100
A aNOE=TIN: b= RHDERL)\BIIS e A - ERRE - R (FH6R~F1085) 21, 600 21,300 A 300




